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Notel: the 71 requires specific animals for m13397, including 5,79 and 773 j3— all steers. 51 is a yearling, 772 j2is a 2 year-old
and 7924 3 year-old

Note2: a 171 counts 7 days, including the 1% day she saw — even if she saw just before sunset; however, she doesn’t complete her 7 days
until the end of the 7" day.
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I.  »wn n™ as turning point of year for planting
a. Source: v1; similar to v2 (mw w/o mention of months) and dissimilar from v3’
b. Planting, grafting: done before 30 days prior to »wn n™ is reckoned as belonging to that year
i. Re 757 counts as a year and 2" year begins at »7wn n™
ii. Re 7v7p¥: may be maintained (not considered planted during period of r’y’aw navn)
iii. Only becomes associated: with next year once it blooms — after V2w 10 (re: *pam NYIY)
1. Source for “overlap”: v.1—mwnnn MwYa..MY1170 MY - sometimes NYIY
stretches into 4% year, sometimes »pa3 stretches into 5% year
iv. Suggestion: seems to contravene n"’s principle of 1 day in a year being considered a
full year, as per his assessment of ages of steers re: being considered 991 1p2 12,5y
(unlike 8™ who requires 2 full years and a month for consideration as a 19)
1. Challenge: n™'s principle only applies at the end of the required period
2. Defense: if part (of a day) is considered a complete unit (day) at the
beginning of a cycle (nT1), where a part is not considered a unit (day) at the
end of the cycle; 1"p, where a part (day) is considered a complete unit (year)
at the end of the cycle (0’2%n) a part (day) should be considered a complete
unit (year) at the beginning QED (ruling of 30 days contra n™)
3. Therefore: must follow 8™, who considers 1 sub-unit (month) as a whole unit (year)
4. Challenge: should require 30+30, as per jnn1 ":
a.  Prohibited: from planting, grafting etc. within
i. #7130 days (+30 days)
ii. 77 71 3 days (+30 days)
iii.  jwpw 77 001 7. 2 weeks (+30 days)
b. ...of Avww: if planted, must be uprooted; yam "1 adds (30 days) to each
c.  Note: cannot be X" — require 60; T "3- require 33; W"N » — require 45
d. Therefore: must be n™; has 1 day:1 year + 30 days for germinating
i. 30" day: counts for both reckoning a year and for final day of nv%p
5. Dispute: between 8”11 n”1 based on v4:
a. »”r 1% day of year considered a new year
b. »”r syntax indicates “600 years; and on 1t day of next year...”
i. Reasoning: “1% of month” - sub-unit of month is a day
1. Similarly: sub-unit of year is month
2. Argument: just as 1 day is reckoned as a month
a.  Similarly: 1 month is reckoned as a year
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